3. AEAB(AO1085 AHT=Y) — 27—
> 8 (=P T: ] L (A)
HERRE | ERE) LU 500 1,000 1,500 2,000 2,500
13 HE A 2,801.0 1 ]
10 #ER 1,881.6 3
21 I RE 1,7413 4 I —
24 =ZEFER 1,7255 5 I
27 KRR 1,707.0 6 I R
26 I # AT 1,683.6 7 ]
14 #HE)IE 1,583.4 9 _ ! _
12 TER 1,449.2 10 I
11 BEEB 1,447.8 11 ]
08 R E 1,416.2 12 I
25 HEBR 1,407.4 13 ]
28 EER 1,400.6 14 ]
09 HAKRE 1,342.0 15 I
19 WHRE 1,331.2 16 ]
20 EHE 1,269.3 17 I
4 LBEBER 1,225.5 18 ]
18 BHE 1,200.9 19 ]
16 EILE 1,009.8 20 I
40 fEREE 923.2 21 ]
33 [ W E 900.8 22 I
3% WwOoRg 8195 23 ]
17 AINE 806.6 24 ]
2 ERE 7735 25 ]
47 HhiE R 768.7 26 I
4 KH R 7422 217 ]
39 FINE 709.6 28 ]
29 ERE 639.6 29 ]
04 EFHWE 599.4 30 I
31 EmE 590.1 31 I
38 TR 584.4 32 I
2 EBER 556.9 33 ]
36 EER 512.2 34 ]
15 #HEBER 502.0 35 I
06 R 489.6 36 ]
30 FFLE 484.3 37 I
43 BEAXRE 467.9 38 I
41 kER 465.6 39 ]
07 BmER 4558 40 ]
39 EHME 4443 41 I
01 dt i@ 4028 42 I
03 EFER 392.1 43 ]
46 ERER 354.8 44 I
45 TG E 3345 45 ]
05 #MHER 284.8 46 ]
02 FHE 2635 47 .
2 H 1,378.8 T
(A) 1,378.8 O *E% E = =
1,400 L MBEERHROERFE LD & FARTELD
12174 _eo=” A1RABAED RS R OSE AN#iIS8, 656 AT, 42[F
1,200 Lo T L2810 DHEAILDO. 49% % D, AN105 ANdbi= ) T
1,0325,2 % B LT42. 2 NT, BERILE 25TV 5,
1,000 ,,/ - )
js Ao = O ST — 2 CERR2T4R) (A)
7| 800 PO 422 SME A B NE
/;; T A Y 8, 656 1, 166, 338
- / £ [H 1,752, 368 127, 094, 745
HE 384.8 568.1
200 8 O BERHIUTT  BSE AR TESBHE)
—— K5 -—— 2[F | O MEMA : FERK2THELI0A LA
0 : ! : ! : ! : O FEEH . 545
B@60 F2 7 12 17 22 7% = O SAEAAD  BREFEEDOANORED S B, SEE
BERTLH,

x

TR 1L ECNE D K = 0I5 7> > C U E 5




